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1. All passengers were rescued A huge wave capsized the yacht.
(A) so (B) with (C) after (D) during

2. Because this product has become a cash cow now, we need to
production.

(A) expand (B) expatriate (C) expedite (D) extend

3. The consignee looked at the ____ to check where the goods were
produced.

(A) bill of lading (B) instruction (C) certificate of origin (D)
1nvoice

1. [#¥ %] (C) - passenger (n.) % ~3% ocapsize #34p [ (45~ 2 ) §8 % ~
MR o ARERER G AT A B o TP ¥R RE(C) v after t 2 18 o 3R
LU AER A SBigdrfuz (5 > T3 R E R

2. [#%])(C) #4aiplmF & > expedite $30 » dp TR = & 5 0GR S S v iR
RoR T wEC) LS TSR ASFRAES 550 FHEAT TR P it

Ao 5 3 (A) expand® i@ o4y " () (2~ ~BSERIE) - > B4 (R
) "%k 5 (B) expatriated @ - 4p T( k) iR VAR BB AR
; (D) extend## 3@ » 4y et & » et | o

3. [¥%]) (C)certificate of originkh A #HP 2 - AEERHKF & -3 5 &
bARARAP ZEP T RIREB L kiRe ; 5 (A) bill of ladingds "RHE @
BAB/L -7 2t hE, 5 (D) invoicedy THE o

“r



2021/06/20



